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QUESTION 1

You are configuring VXLAN, and you must ensure that all switches for the multicast groups advertise their existence and
learn about other VTEPs. 

In this scenario, which protocol will accomplish this task? 

A. OSPF 

B. BGP 

C. EVPN 

D. PIM 

Correct Answer: C 

 

QUESTION 2

What is the purpose of the command shown in the exhibit? 

A. to stop the transmission of transit multicast traffic when there are no interested receivers attached to a remote VTEP. 

B. to disallow IGMP requests for the group 239.0.0.1 from hosts attached to the local VTEP. 

C. to disable the multicast group 239.0.0.1 across the entire VXLAN. 

D. to stop the reception of transit multicast traffic when there are no interested receivers attached to the local VTEP. 

Correct Answer: A 

 

QUESTION 3

Your manager asks you to secure ARP and DHCP traffic across your local Ethernet links. 

In this scenario, which technology will accomplish this task? 

A. SSL 

B. a firewall filter 

C. IPsec 
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D. MACsec 

Correct Answer: D 

 

QUESTION 4

Which EVPN route type would be used in a DCI situation in which the IP subnets between data centers are completely
unique? 

A. Type 2 

B. Type 3 

C. Type 4 

D. Type 5 

Correct Answer: D 

 

QUESTION 5

Referring to the exhibit, DC1 and DC2 have a DCI across a service provider WAN connection. Host1 in DC1 must have
Layer 2 connectivity to host2 in DC2. A VXLAN tunnel must be created between VTEP1 and VTEP2. 
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In this scenario, which statement is true? 

A. The service provider WAN connection cannot be an MPLS-based WAN connection. 

JN0-681 VCE Dumps | JN0-681 Practice Test | JN0-681 Exam Questions                                4 / 5

https://www.geekcert.com/jn0-681.html
https://www.geekcert.com/jn0-681.html
https://www.geekcert.com/jn0-681.html


https://www.geekcert.com/jn0-681.html
2024 Latest geekcert JN0-681 PDF and VCE dumps Download

B. VXLAN Layer 3 gateway must be provisioned at the Super Spine layer. 

C. A route to the loopback address on VTEP2 must be present on VTEP1. 

D. VTEP1 and VTEP2 must peer using IBGP. 

Correct Answer: C 
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